Maytag MFR18PDCWS 01 - BASE FRAME

29-Apr-05
504 6168
Maytag Commercial Maytag MFR18PDCWS Washer Parts Parts Diagram 01 - BASE FRAME

Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 23004292 Base Frame Mfr18
002 NLA Not Available CLAMP, TUB

003 NLA Not Available BRACE, TUB SUPPORT
004 23003285 Bolt

005 23002654 Washer

006 23003764 23001661 Nut M10

007 23003765 Bolt M8x35

008 23002646 Screw

012 NLA Not Available NUT M8

013 NLA Not Available NUT M8

014 23002439 23001265 Washer

015 23002437 Washer M8

017 23002425 Locker Washer M6
019 23004221 Washer 8

020 23001607 23001266 Nut M8

021 23003769 23001203 Washer


http://www.pwslaundry.com/c-299691-commercial-maytag-mfr18pdcws-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799711-maytag-23004292-washer-base-frame-mfr18.html
http://www.pwslaundry.com/i-7798945-maytag-23003285-washer-bolt.html
http://www.pwslaundry.com/i-7798526-maytag-23002654-washer-washer.html
http://www.pwslaundry.com/i-7798038-maytag-23001661-washer-nut-m10.html
http://www.pwslaundry.com/i-7799234-maytag-23003765-washer-bolt-m8x35.html
http://www.pwslaundry.com/i-7798522-maytag-23002646-washer-screw.html
http://www.pwslaundry.com/i-7797823-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-7798449-maytag-23002437-washer-washer-m8.html
http://www.pwslaundry.com/i-7798443-maytag-23002425-washer-locker-washer-m6.html
http://www.pwslaundry.com/i-7799641-maytag-23004221-washer-washer-8.html
http://www.pwslaundry.com/i-7798003-maytag-23001607-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7797780-maytag-23001203-washer-washer.html

022 NLA Not Available PLATE

=z
w)
m
X

024 23002424 Washer M6.4

laundry company*

laundry company*

laundry company*


http://www.pwslaundry.com/i-7798351-maytag-23002280-washer-nut-m6.html
http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html

	Maytag MFR18PDCWS 01 - BASE FRAME

